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General Instructions:

1 All questions are compulsory.

2 The question paper consists of 31 questions divided into four sectio
Section-A comprises of 4 questors of 1 mark each: Section-B comprises
of 2 marks each; Section-C comprises of 10 questions of 3 marks each an
comprisgs of 11 questions of 4 marks each.

3. There is no overall choice in this Jueston paper.

4. Use of calculator is not permitted.

ns A, B, C and D.
of 6 questions
4 Section-D

WU3-3 / SECTION-A
U e 1 84 ¥ BT @13 ¥
Question numbers 1 to 4 carry one mark each.
ﬂmmfﬂﬁiﬁaﬂm‘imﬁ%(o,s)ﬁwmi? 1
How many graphs of inear equations in wo variables can pass through point (0, 3)?
mhémmvﬁ3ﬁﬁmwﬁhmtso%3ﬁ!ﬁmmuﬁﬁmt;o 1
tlaﬁxﬁéé%ﬂquﬁaﬁm%,aﬁmmmﬂmmmﬁmﬁ-@—.qﬁ‘
ffa R;shabh kum ar 2

The parkmg*char-ges of a car at Delhi Railway station 1s ? 50 for first 3 hours and 2 10 for ‘-

subsequent hours If for « hours parking cnarge s Z y. then write 2 linear equation in two {Soo
vanables which represent this information.

s mm a9y faea ?.r:mns"tmw;&rmﬁmmaﬁm#) :
Construct an angle of measure 135° (using ruler and compasses only).
TR % FA F TRF NEAS ® =9 8 A ' .

Wnite the edge of cube in terms of its volume.
guz-d [ SECTION-8

TR qEr 58 19 F TAw ¥ 2 W7 K

1-33:5®
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Question numbers 5 to 10 Carry
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In the given figure, O is the centre of the C

ABDC

\\
B.‘A__-){'r" \\
\\»-a., //

;;Tom:rkieca%l' afc LABC=30°%, @ £BOC R £BDC 7@ 2
B =

ircle and BA=AC. If ZABC= 5;:0", find £BOC and

fﬁgsamffafr ABCD Tw wmiex wqie &1 A £1= 423-?‘1?43 ©4 B, & T fF ar 2

(ADAE) ar(ACBF )

oy

In the given flgure ABCD is a parallelogram. If £1= 42 and £3=Z4, show that ar
(ADAE) = ar(ACBF)
D C

HIUMEYF & &M H, LDOE=15

°ﬁmwumzoosmmmm§m TR AU THER H 2

e 4§, 4MOE=7?%ﬁrmaﬁmmﬁm

Draw £DOE=15

help of compass and ruler.

How much ice-cream can be
T tE=a = 150 W "EIEH

() f=a wra gF0
(i) 9€ T Faitl ]
A coin is tossed 150 Hme

3
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: 1 .
o using protractor. Now, using £DOE, construct 4MOE=7—5, with the

wﬁmssmaﬂ?*ﬂﬁlzfmméﬁﬁimmﬁmm"mm%? 2
put int0 a cone with base radius 3.5 cm and height 12 cm?

ﬂmﬁﬁmmg

R
65

and the outcomes are recorded as follows :
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Outcomes

H

T

Frequency

85

65

If coin is tossed again, compute the probability of obtammg

(i} one head.
(ii} one tail.

T ©R H, mm@u’tmmm(kgn)m?mﬁﬁ

7.97,7.05,7.08, 6.03, 7.00, 6.06, 6.08, 6.04, 6.00, 6.98, 7.15, 7.34, 7.23, 6 94, 7.12 |
TR §16 it R ag=eat g3 T 9 w9 7.1 kg § A ¥

In a store, bags of coal powder each contained the following weights of powder (in kg):

7.97,7.05,7.08, 6.03, 7.00, 6.06, 6.08, 6.04, 6.00, 6.98, 7. 1:),734 723- 6.94, 7.12 kg.
Find the probability that any one of these bags chosen at Tandom confains more than 7.1 kg of

coal powder.

E"UE-H [/ SECTION-C

U TON 119 20 F Uw F 3 HE 51
Question numbers 11 to 20 carry three marks each,

3x +2y =18 y—mx+c$wﬁ%@q:mm!ﬁ@ﬁm
Write 3x +2y =18, in the form of ¥ = mx + ¢. Draw its graph.

3

T x AR y A T v Yaw wofemor 3 S v=2 37 y = mﬂe@saﬁa%'?s?ﬁrﬂ#éamm 3

1 FF ST

How many linear equations in variables x and y can be satisfied by x=2 and y=1 ? Determine
two of these equations.

TFH [W@ETE PQ =12 cm TIF AR Y73 = waﬁmﬁRﬁ@mWﬁﬂwRQ -3

cm B SIQ) AT F U A fafan

Draw a line segment PQ=12 cm and by ruler and

RQ=3 cm. Write steps of construction.

G @ AFE G, m*ﬁuﬁﬁﬁoaﬂqﬁ“mmﬁ?ﬁﬁawﬁaﬂmaﬁcn
qgﬁﬂﬁqaq-{aa% THQ S Wt e § e S Siansdl S wnigiies s 3

an

:

f
t

\ R !

c—:j—//—'o

From the given figure, prove that the diameter PQ with centre O of a circle perpendicular to
one of the two parallel chords AB and CD of a circle is perpendicular to the other and bisects

both the chox ds.
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DEFG is a quadrilateral such that diagonal DF divides it into two parts of equ"anl areas. Prove

that the diagonal DF bisects GE.
F

D :
.16 T 9o F AYTeTER TS § G 9% ToT §9% S TN I €1 3iE MR w1 aifa 176 2
m &, 5% a7 G F R A U =m0 w2y gh s

The inner curved surface area of a hemispherical dome of a building needs tc be painted. If
the circumference of the base is 17.6 m, find the cost of painting it at the rate of Rs. 5 per sq.m.

017 = SRERd se9 1 U 999 IRIRT 529 IR § seiow _ 3

=g .

150-153 |7

154-157 |7

158-161 |15

162-165 |10

166-169 |5

170-173 |6

153.5 3R 167.5 T 3erredl § Wi g ?
Convert the following frequency distribution into a continuous grouped frequency table :

Class - Interval | Frequency
150-133 7

154 -157 7

158 - 161 15

162 - 165 10

166 - 169 5

170-173 6

l .
In which intervals would 153.5 and 167.5 be included ?

18 Fefafen sfwg ¥ g WEE FW B0
) 19, 25, 30, 48, 35,31, 30, 32, 51_ )
AR 25 31 52§ wem fea W, A T AT T E A0 2

Find the median of the following data :

1
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© 19,25, 99, 48, 35, 31, 30, 32,51

If 25 is replaced by 52, what will be the New mediag ?
n?

TR AN T gy

Question numberiz:l to 31 carry four marks each

Pt SRl 3 v & e e e st ity

x=4,x=2,y=1,y~-3=0. - :
7wl F A o dme W gm |

Draw the graphs of the followin

raw the grap & equations on the same graph sheet -
r=4,% —.2, y= 1: y—3=0. \A?o, find the area enclosed begtrwzen thi:te.lin
iy fdll Tt A4S " g S e

T TH TH 40x AR S0y S s
5 . y R T s — a
T fafEe ) 3o ek o | - W= U3 el U s
A pair of opposite angles of a parallelo g
. s . gram are 40x and 50y. W i i :
satisfies this data. Also draw the graph for the same. Y. Write a linear equation which

m#ﬁmh%‘%ﬁﬁmm?ﬁmmﬁﬁmmhmmqﬁﬁmmmﬁmmﬁ 4

1

fag W 3w =m =1 g da

Prove that the angle subtended by an arc of a circle at the centre is double the angle subtended
by it at any point on the remaining part of the circle,
22

ABCD U 3171d 31 W13t AD 3R AB W waw: fog painQ¥ | wwign fF APOQ & aa ¥ ait 4
al‘(APOQ)tar(ABCD)mﬁmwaw%ﬁBR=lBcai'RDs=-1-CD%l

A Q B
Tt
D S -

: Show th
CD is a rectangle. ¥ and Q are points on sides AD and AB respectively: At APOQ
AB is a -

4
CD. |
B
Ar ? J
o .. R
)
DS

s =5 ™ RS a
a0, afz fen T =
23 T FEE ABC' F T HTAY e
(BA +AC)=8 cm 7 2B =30" %!

=8cMm
mofothertwosides(BA*A|ﬂa;mmﬁ%ﬁmqﬁm .
Construct AABC if base BC=5 cn% su o o % ol o s
: % Ba FAAEHR , fa= 1 e
L2 wF T H W
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of 2.5cm. dius of the cylindrical vessel is 50 cm. A certain day recorded rainfall

t;)) Find the height of water filled in the cylindrical tank.

Find the volume of water filled in the cylindrical tank.
(©

Which moral value is depicted in this problem ? (Use 7 = =)
7
25

o S = i T A9 W F R Y mgen g e w1 3 S
(@) 39 WHR = fe=w =1 3ngaA |

(b) 3% UIvE IS FI T8 WA cm2 T G T = oam)

A metallic sheet is of rectangular shape with dimensions 40 cm b
corners, a square of 4 cm is cut off. An open box is made of the

: wmaﬁsﬂzm%aﬂmﬁ%ﬁﬁwﬁtﬁmmmwcm%l TETEF HIN T 4cm 4

Yy 30 cm. From each one of its

remaining sh : .
(a) volume of the box formed. g sneet. Find the :

(b) cost of painting its lateral surface at the rate of2 § per em?,
26 T 3 do F SR 1 AR TR F AT m ) A gg dmm o

m22, W T T AE TS Sl AR ST T Fif A I e 1628 4

The sum of radius of the base and height of a solid cylinder i
the cylinder is 1628 m?, find the curved surface area and vo

ot = umE Ofﬂle 1: a
27 wmésommmmi cylinder.

(@ D) | o e
21-23 (35—
23-25 4
25-27 5
27-29 6
29-31 S
31-33 4
e i w5 agE T T g

(@) 2935 T H AT 7 %l
o opBFTIF #

DWS:
The ages of 30 teachers

it a school are as folle
Age (in ears)

page 6 of 7 \\
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5729 6
29-31 2
51-33 4
33-35 |3

Find the probability- that the age of teacher chosen at rindom : ]
(@)  lies in 29-35 years

(b) is at least 31 years

(%)  is below 23 years

28 freffan e 5 forg A T S )
| F (AN S) [0-2]2-4]4-6]6-8]8-10]10-12[12-12 1316 | 16-18
HRARAT 2 |4 |6 {8 |9 |6 > v 2

Construct a frequency polygon for the following data.
Age (inyears) | 0-212-414-6[6-818-10110-1211
Frequency 2 |4 6 8 19 6 |5 3 1

GU-T/SECTION-E (W 91€ /Open Text)
(o ghifrad A fF S frer € g wagernt 3 9 & 9 Herd @)

(* Please ensure that open text of the given theme is supplied with this question paper.)
fava . gdl 31 faga dima &0 q@ w9 i
Theme : Solving Mystery of messed up fields.
29 HIHR & Ga ® IV F 3FIE 3:4:5 & I Fq Fg AU

In Oonkar’s field angles are in the ratio 2:4:5. Find the angles.
30 fag Fif f FedFAm % S0 & el F gmE gad 2

In Laxminarayan'’s field, prcve that diagonals are equal.
31 fag WO % SR % W AGC F OGS $ qunpig @ A B WA W F 4
T TR & TG B E

Prove that four triangle formed by joining in pairs, the mid-point of three sides of Oonkar’s
field ABC are congruent to each other. '
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